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EFRAS R H S
20214 12 B
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.013 0.005 &
LA i 1.512 0.008 - 0.724 0.071 =
/L4, (HCI) 4,545 0.011-0.181 0.110 =
mIbE (HF) 0.306 0.009 - 0.056 0.030 s
— &b (SO2) 15.147 0.184 - 3.083 1.808 =
—4&bi% (CO) 7.578 0.000 - 0.135 0.056 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.768 - 6.188 1.540 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.007 0.005 &
LA 0.756 0.021-0.151 0.071 =
Z/LE (HCI) 0.756 0.062 - 0.161 0.110 s
wAbE (HF) 0.072 0.020 - 0.041 0.030 s
&R (SO2) 3.789 1.444 - 2.075 1.807 =
—&Ei% (CO) 3.789 0.003 - 0.117 0.056 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.169 - 2.569 1.542 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 10°° <6.638 x 1020 &
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EFRAS R H S
20214 12 B
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.017 0.006 &
LA i 1.512 0.000 - 0.581 0.047 =
Z/LE (HCD 4.545 0.004 - 0.572 0.226 TE
mIbE (HF) 0.306 0.001 - 0.072 0.040 =
— &b (SO2) 15.147 0.356 - 3.163 2.258 =
—4& kbR (CO) 7.578 0.013-0.128 0.054 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.409 - 5.343 1.497 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.008 0.006 &
LA 0.756 0.022 - 0.094 0.047 =
Z/LE (HCI) 0.756 0.090 - 0.424 0.225 s
wAbE (HF) 0.072 0.026 - 0.050 0.040 s
— &b (SO2) 3.789 1.258 - 2.643 2.258 =
—&Ei% (CO) 3.789 0.030 - 0.079 0.054 g
HAY (NOx)
DL=%AEE (NO2) 15.147 1.012 - 3.113 1.501 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 10°° <5.735 x 1020 &
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EFRAS R H S
20214 12 B
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.008 0.002 &
LA i 1.512 0.022 - 0.874 0.105 =
Z/LE (HCD 4,545 0.041 - 0.262 0.169 TE
mIbE (HF) 0.306 0.006 - 0.074 0.039 =
— &b (SO2) 15.147 0.025 - 5.783 1.863 =
—4&bi% (CO) 7.578 0.000 - 0.381 0.031 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.783 - 10.565 1.780 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.001 - 0.003 0.002 &
LA 0.756 0.045 - 0.175 0.105 =
Z/LE (HCI) 0.756 0.119 - 0.221 0.168 s
wAbE (HF) 0.072 0.029 - 0.043 0.039 s
— &b (SO2) 3.789 1.190 - 2.133 1.860 =
—&Ei% (CO) 3.789 0.014 - 0.058 0.031 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.258 - 2.797 1.799 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0005 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 107 <6.564 x 1010 =
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EFRAS R H S
20214 12 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.033 0.006 &
LA i 1.512 0.019 - 0.648 0.108 =
/L4, (HCI) 4,545 0.029 - 0.164 0.106 =
mIbE (HF) 0.306 0.011 - 0.071 0.035 s
— &b (SO2) 15.147 0.043 - 4.749 1.599 =
—4& kbR (CO) 7.578 0.000 - 0.076 0.027 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.508 - 6.695 1.310 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.007 0.006 &
LA 0.756 0.050 - 0.183 0.108 =
#F/bE (HCI) 0.756 0.068 - 0.132 0.107 s
wAbE (HF) 0.072 0.030 - 0.039 0.035 s
— &b (SO2) 3.789 1.280 - 1.950 1.596 =
—&Ei% (CO) 3.789 0.016 - 0.050 0.027 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.907 - 1.761 1.309 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0022 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.103 x10°20 &




TS RBE B R
YR RAS RS
2021 4E 12 B

() EEGERELURE HRIER - BB Ry 101.325 kPa » sg iR Fat BA%E - LIRS
A& 11% RBSHEEIEIE -
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